SRETRYT

Multiplicera med tio befogenheter (antal saknas)

namn:
3,928 x =39.28
1,125 x =112.5
6,397 x = 63.97
5,339 x =533.9
7,444 x = 7444
5,777 x = 577.7
8, 028 x = 80.28
10, 776 % = 10776
7,915 x =79.15
5,495 x = 5495

Datum: Poéng:

9,57 x = 957

5,398 x = 5398
8,031 x = 8031
5,791 x = 5791
7,341 x =73.41
7,155 x =71.55
6, 752 x = 6752
4,461 x =44.61
5,535 % = 55.35
7,667 x =766.7
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i Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poiing:

3,928 x 10 =39.28 9,57 x 100 = 957
1,125 x 100 =112.5 5,398 x 1000 = 5398
6,397 x 10 = 63.97 8,031 x 1000 = 8031
5,339 x 100 = 533.9 5,791 x 1000 = 5791
7,444 x 1000 = 7444 7,341 x 10 =73.41
5,777 % 100 = 577.7 7,155 x 10 ="71.55
8,028 x 10 = 80.28 6,752 x 1000 = 6752
10, 776 x 1000 = 10776 4,461 x 10 =44.61
7,915 x 10 =79.15 5,535 x 10 =355.35
5,495 x 1000 = 5495 7,667 x 100 = 766.7
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